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Instructions for the candidates :

adenfiral & frd Frdar -

1. gieref OMR 39¢ 9% 9v HGAT 1. Candidate must enter his / her

¥ Yfeasr wwie (10 A&H @) Question Booklet Serial No.
Vg ferd | (10 Digits) in the OMR Answer
Sheet.

Candidates are required to give their
answers in their own words as far

gidere]  qurgya  srgd wesl H &1 2.

o

FA 3
as practicable.

3. g HR Eifrg w RE gv 3k Tﬂf&" 3. Figures in the right hand margin
fAfee #3d &1 indicate full marks.

4. gl H wmgaa' g7 @ [0 4. 15 minutes of extra time have been
geieferEr &1 15 A2 @1 Hfafred qqg allotted for the candidates to read
fear mar &1 the questions carefully.

5 Jg W¥H yﬁﬂ?ﬂ gl @vsl d g — 5 This question booklet is divided into
&Ug-3 U @G-/ two sections — Section-A and

Section-B.
[ 117 ] C |(A)-9001-C33) Page 1 of 28



6. YT F 70 awgfre wwT & O

4 feet 35 gyt @r I A
SFvaTd #1 35 qei @ sifuw # I
ﬁwmiisi'ﬁ?g?ﬁ?ﬂmgfvﬂ
TR & forw 1 s i &1 F
3W 37 & forg Iuerey F9 T OMR
II-TAH § frg om wgt fwed #
qid / @IS ater ox @ TG W
feet st waw & wgew / WA
WRTel / &g / ARG HIfT F OMR
WY uFE H ugm &eAr WA B
=T YT RO AT g

&g - § § 20 g IAAT AT E |
sew & fog 2 s Frifea 8, fd
q@ fr=t 10 weAt @1 FAw A
Afrard & | 7% sifofte g7 @ve A
6 T Iy W fid ma § wAE F
fore 5 siw Freifee & Frdl @ freet
3 g¥At &1 Iav 3T AfErd &

fFat gFR &
ST qotaar afsra & |

soiaeife IUFU FH 8.

In Section-A, there

70 objective type questions, out %
which any 35 qt:eqtions are to
answered. If moré than 35 quest;
are answered, then only first 35 iy
be evaluated. Each question cqpm
1 mark. Darken the circle with

/ black pall pen against the COrreey
option  on OMR Answer Sheer
provided 10 you. Do not
whitener / liquid / blade / naiy
etc. on OMR Answer Sheet,
otherwise the result will 3,

invalid.

in Section - B, there are 20 shor

answer type questions, eqqp
carrying 2 marks, out of which any
10 questions are to be answereq
Apart from this, there are 6 long
answer type questions, eqch
carrying S marks, out of which any
3 questions are to be answered.

Use of any electronic appliances is
strictly prohibited.
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TS - 3 / SECTION - A

TE & gejes
93T & wry
m#mg#wm?ﬁmw IR e Ry e fornd @ v s g
OMR ¥z w7 Rifem &¥1 fareeft
35 0¥ & Iv
Question Nos. ] to % 35x1=3s
0 70 have four options, out of which oni -
mark your selected optio Y one is correct. You have to
", on the OMR-Sheet. Answer an 35 :
| iy ( . y questions, 35x1=35
: I e Ly | : : s
) & &qqﬁﬂﬁfi%mﬁw’ﬁf@ﬁﬁﬁqﬂﬁ% ?
Mo+ '
(A) ==L v =
T3 | u=th
. M
((.« =t
) e D) = —%"—
Whi .
ich of the following is correct for refractive index of mean colour ( yellow
colour ) ?
M, +H
A ==L v H,—H
{ ] IJ- 2 (B) PL - r 2 v
_ K . M
(C) p=ge (D) p= _5"_

4 THIR Fg It g #7 92t w91 2 &

() o B =
(C) 100 cm (D) 10 cm
Power of parallel sided glass-slab is
(A) infinity BT zero
(C) 100 cm (D) 10 cm
3. g oi-fagiuer e ad @
(A) (M, -H,)A (B) (Ky = K)

(C)  (mu, +4,) D)k, *r)A
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Angular dispersion is equal t0

w, = H,)
(A)  (u, -p,)A B (%
€ (n, +n,) |~ L +p, ) A
wiieig gRewt % ferg fefarad 3 A @ g ?
(A) [.=f (B) fo >fc
o €
(C] f <f (D) fo<<fe
o e
: 2
Which of the following is correct for Astronomical telescope :
(AJ fo = fe L)Bj fa >f?
C f,<f Dy fo<</fe
€
g H e, & AF FAL
(a) 4 B) 3
c 1 o) 9x10°
The value of €, in air is
(A)  zero ‘(Bj/ infinity
D) 9x10°

(C) 1
W‘mﬁﬁaﬁﬁammwﬁmmmmm%

(A gE m 2

© 2 D) JaE

The value of force acting on a charged particle in electric field is
(A) qE _ (B) _g_

ol o JE



~1

o9 7 A 30 B & dia auae viftan &

(. .C C

A 1 = — } B
A) C <
B 3
. 2
€1 2¢ =
O =
Equivalent capacity between A and B in figure 1s

C

A T B
A C =
A) B 3
2
¢ 2¢ =
(C) D =

92T &1 AR & feu Fafaiaa § #19 96 & ?

RA L
.'\ - — T —
(A) P==7 . (B) P= RA

RL

A

(D) p=RLA

(A)  p= ELA# B) p= %

© p== (D) p=RLA
ferva-waoTer SRR @t

a & B) dx.dV

© S (D) ¥ @ H§ T



Potential gradient is equal to

w4 a3  dx.dV
. of these
@ 9 (o)  Noncoftl
10. foea goia & S| 0w ¢
(A)  3m-mie (B) qrffart-HieEd
© aee-is o) (@)D

S.1. unit of clectric flux is l
sre.metre
(A)  ohm. metre (B) umpere

(D) (volt) (metre) !

(C) volt-metre
11. &Y Q ne | Frafefad § ®H 1 W v e 8 ?
A) 4 B 8
C) 42 (D) 100
Which of the following values of n is not possible in relation Q=ne ?
(A) 4 (B) 8
C) 42 (D) 100
12. U QEiR qfw 9wy 9 uiiar & feu Frefetaa 3§ S W@ e 2
- e, d
w Sl ® =5
d A
(©) € A & €, d

Which of the following is correct for the capacity of a parallel plate capacitor ?

A €, d
W ® %
d A
& LI

[117 ] C [(A)-9001-Cga) Page 6 of 28




faggt uRd ) wife @l @

! 3 2

v .
©) e (D) v*.R.l.

power of electric circuit is

A VR B) V.R

<) Te: D) VZ.RI.
ufcea wfaar g &

w2 B

C w.c (D) :,_:E

Capacitive reactance is

w C

A = = =
. A
C) w.c (D) s

gl & §HieR sn o fefetea § w9 uf @ W e ?
(A) IR IR (B) qr
© favEiR R R S (D) T J I A

Which of the following is the same in parallel connection of resistances ?
(A) Potential difference

(B) Current

(C) Both Potential difference and current

(D) None of these
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16.

7 ¥ SO @ @

6 mH
B 107 m
(A)  10°mH et
| (D) 10 ®*mH
() 10 “mH
One henry is equal to o
10° ml
(A)  10°mH (B) |
10 °mH
() 10 °mH (D)
- ?
17. %&a‘@ﬁeaar—or%%qﬁmfaf@ﬂﬁﬁﬂaﬁ%
1
_ A (B) 7:1 = I
A Ta = 576931
T ==
(C) T, =(0-6931)A (D) a2
R e
Which of the following is correct for radioactive ‘clemen
: 1
N S Bl Ta=7%
A 1o = 576931 ( toA
D) T,=3
[C) Tﬂ = (0 . 6931]1 ( ] a 12
18. frefefaa o w19 @& & ?
(A)  (1100); = (12} ()  (1001); =(12ho
(C) (1111); =(12)0 (D)  (1011); =(12ho
Which of the following is correct ?
(A)  (1100); =(12)0 (B)  (1001); =(12)
(C) (1111)3=(12)0 (D) (1011), =(12)y0
19. e e & forq Frefafad 4 #1946 e 2
(A) AND, OR, NOT (B) AND, OR
(C) NAND, NOR (D) OR, NOT
[117 ] C |(A)-9001-C3) Page 8 of 28




which of the following is correct for fundamental gate ?

(A} AND, OR, NOT (B) AND, OR
(C) NAND, NOR (D) OR, NOT
0 frafcbaa 4 w4 safoa 2@ & 2
(Al EIZH (B) w Rl
© B (D)  FETEEH
Which of the following is not charged ?
(A) Photon (B) u -particle
(C) [} -partcle (D) electron
o1, 1A 1A T T J dienn {1 @1 A1 el @
(A) ! (B) 2
The value of yellow colour in colour code of carbon resistance is
(A) 1 (B) 2
(C) 3 (D) 4
g, AIEZTHIZY HTIET @
(A)  SfeRmy B) fmEeR
Voltamcter measures
(A) resistance (B) potential difference
(C) currcnt (D) none of these
Page 9 of 28
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23. | w1 o= e €

dn €,

-2
. @ 9 x10°Nm’c
(A) 9 x10°Nm?c?

2,4
) D) 9% 10 NmTe

(C) 9x10"Nm?c

The value of 1
4ueo
-9 2 -2
(A) 9 x10°Nm?c? B 9x10 Nm“c
- 2 2
() 9x10"¥Nm?c2 (D) 9x107*Nm%c

24, FfifeGa d FF Sew wdt & 2

& 5> o
@) E=¢ B E=qF
3-4 F=r—r>t—Z
(C) E= 2 (D) dneg 1
Which of the following relations is correct ?
= o ot A=
4 E=L B E=qF
q
—)— q —>= 1 _q_
(C) E _§ (D) Boe < };
25. forga-fava steR g &
g ' w
(A) — (B) a
(C) wq (D) vywg
Electric-potential is equal to
g w
(A) 5 (B) r
€C) wgq D)  Jwg

[ 117 ] C [(A)-9001-Cg3) Page 10 of 28




% fergfeft favg-ameot &1 s 1. mrrer e &
(A} cm (B) cm?
(€) em! ) cm™
S.1. unit of cleetrjc dipole moment is
(A} cm (B) cm?
() cm’ D) cm™
. T S (F) TR ghen &
(A)  1CV B 1cv!
C) 1Cv-2 D) 1cv?
Onc farad is equal to
A)  1CV ® 1cv
(€) 1cv-2 D) 1cv?
08. R AT W Refaet st @t &
(A)  CV2 | B 3cV?
@ Low o ey

Potential energy of a charged conductor is

A) CV?2 (B) 3CV?
: 1 2
(C) % cv? | D) ZCV
29. wehv-ad fre sifaes fer &1 A ® 2

@ T B w9

© et | (D)  ehTeT <hi dlisten

{117 ] C [(A}9001-Can] -  Page1lof28




The unit of which physical quantity is light year ?

&Y/ Distance (B) Time

(C)  Energy (D)  Intensity of light

30. U wel GeEee @ wen gan wfafa g &
(A)  @TeaiAe SR @ (B) HedEE AR I

() arsfas 3R den (D) aRdiees T I

The image formed by simple microscope is

(A)  Virtual and erect (B)  Virtual and inverted

\jﬁ( Real and crect (D) Real and inverted

31, 3O oiW gRT Frsfeae § s-ar ofi QW g o ST € 2
A Free-gfeea | B) g
(C)  WI-GRERTA D) A

Which of the following eye defects is removed by convex lens ?
(A)  Nearsightedness (B) Farsightedness

(C)  Presbyopia (D)  Astigmatism

32. ui-fasigur emaer & fere Frefafaa § @9 @979 9§ 2

_HBy T K, :
(A) W_F (B) w=(p, =K K1, 1)
po -1
(C) w=—4 D) w=tvtr
p’u p'r p-y _1
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Wi
.

which of the following relations is correct for dispersive power ?

w = “P _ “r
" hy —1 B)  w=lr, ~r)0y, =1
n, -1
< =Y TO T
c) w= ol a2
( TS D) w Ry~

fald H SRRT BT AT ¢ ¥ B (o= 3/2) W FEH AE AW

3¢
W | %
. ﬂ._(_..
© 3 D) 3

velocity of light in vacuum is c. Its value in glass (1= 3/2) will be

3¢
Y ® %
; ac
(S O 5

A THTART & fole @il qeeetes @) ofrs el @

A S S B  fyxfe
Jo
(€) 7. D) Sfo+fe
The length of an astronomical telescope for normal adjustment is
A Jo-Je B)  foxSe
J
B —
() 7. D) fo+Jte
1 @Ry AT % 3@ & g H BIHH T T B §
(A) I mm (B) 2cm

J,Q)/25 cm (D) lm

117 ] C |(A)-9001-Cy33) Page 13 of 28




36.

37.

38.

Focal length of eye-lens of a healthy man 1s about
(A) I mm (B) 2cm

(C) 25c¢m . (D) 1 m
A .
X ® « -7 Fyfefea § #19 fefaq &xar € 2

A A-4 4 A A-4

(A) X — Y + He (B) X— Y + _He
Z z=2 2 zZ z+2
A A+4 4 A A+4

(C) N — Y + He (D) X— Y + He
Z z-2 2 VA z+2 2

: A

Which of the following represents the a -decay of 5 X ?
A A-4 4 A A-4 4

A X—— ’ ST

(A) P Y+ He (B) Zx “2\' o HE
A A+4 A A+4

(C) X—s "'y 4 He D) O x—— " Y+ He
Z z2-2 2 z z+2 2

frafatea & &3 Oifes o J@ e ?

(A) FggH (B) 9&H

(C)  o-F (D)  3elagH

Which of the following is not a fundamental particle ?

(A) Neutron (B) Proton

(D) Electron

(C) o -particle

TV SR & fou Frefataa § @ sgfa-wE € 2

(A) 30-300 Hz (B) 30-300 kHz

(C) 30-300 MHz

Which of the following is the frequency range for TV broadcasting ?
(B) 30-300 kHz

(D)  30-300 GHz

(D) 30-300 GHz

(A) 30-300 Hz
(C) 30-300 MHz

[117 ] C (A)-QOOI-C{:S:JJI Page 14 of 28




g9 HI W NS & fem fnsfeifas 6 @9 o 9w 2 2
A THEe B %m
()  ufern D) A

Which of the following units is correct to measure attenuation ?

(A) dceibel (B) ohm

(C)  ampere (D)  volt
40. T pUER HE-9EF g 2

(A)  uEteE

(B) HumEfee

(C)  HAEEm

(D)  9H I A9 W A0 dfers I aggE o1 srafera

A p-typce semiconductor is

(A) positively charged

(B) ncgatively charged

(C) uncharged

(D) unchargc.d at absolute zero temperature but charged at higher

tecmperatures https://www.bsebstudy.com

41, ETZZISH GWHI] § oG Sl gAdH Helld Hivig T e &

(A)  h B 2
c & o) 2
The minimum orbital angular momentum of an electron in a hydrogen atom is
Ak ® &
© o o 2

[ 117 ] C [(A)-9001-Cy33) ' Page 15 of 28
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42.
(A) 3 (B) 4
< 5 (D) 6
Donor impurity atom has valency
(A) 3 B) 4
C) S (D) 6
43 fewdl angm &t wdfees geRadl (e, ) BT E
Ay = (B) ex€g
€o
(C) €E+€ (D) €-€g
The relative permittivity ( €, ) of a medium 18
L8 (B) Ex€Eq
L
(C) E+E€E, (D) €E-Sp
44. U fag méwq@rqﬁwhqa-ﬁwwmm%
l_ 4 (B) L%
=2
(A) 4n €, r 4n €y r
2
o 4ne, T
C) .
( 4n €, |
1 1S
The value of electric potential at a distance r from a point charge 9
1 _ g (B) L
o
A, g 4n EO r
( 4ne, T
2
1 q
= D) Geer
(C) TR
4n €
Pagc 16 of 28
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yrérwaﬂqg.mmm%

(A) meﬁmém (B) FH AW
Fl HAGA
o IR .
T (D) F IAEN x FA AFT
Surface density of charge is equal to
(A} Total charge x Total area (B) AOIRL Charge
: Total arca
C) ‘Total charge
( Total volume (D)  Total charge x Total volume
. O 1 TOERA ReRiw g &
(A) 80 (B) 60
(C) 1 (D) 42-5
The diclectric constant of water is
(A) 80 (B) 60
€1 - N
R v =) gt &} foega-wifven 2t &
R
(A) aneg (B) 4ney R
4n e
(C) ~ (D) 4xe,.R?

Elcclrical capacitance of earth of radius Ris

R
vl T r (B) 4ney R
4n € 2
(C) KR 0 (D) 4ney.R

3 7] C [(A)-9001-Ca3) Page 17 of 28




as. uap Ufmay G e &

1 chedint
(A) g —
1 Hehvsg
___1___.--‘—'-"-"
L

©) 1A <1 ESita

One ampere is equal Lo
cond

1 coulomb *1 s€

I coulomb (B)

(A) I second
1 ohm
(C) 1 volt x 1 ohm (D) 1 volt
49, fagd e 9 D gHTS @

A) e B) I
) 4l R k. L
Unit of cletromotive foree is
(A\) newton (B) joule
(C)  volt (D) newton/ampere

50, Ziawi & feu fmfafed & #H FEE ?
(A) TE A.C.H D.C.H & €
(3) g D.C. W A.C. T e €
(C) uan.c.aﬁmaﬁmmaaﬂ%
(D) uza.e.aﬁmﬁammazm%

Which of the following is correct for transformer ?
(A) It converts A.C. into D.C.

(B) It converts D.C. into A.C.

(C) It increases or decrcases D.C. voltage

(D) I{ increases or decreases A.C. voltage

[117 ] C [(A)-9001-Ci3) Page 18 of 28




il M W & S g T R

A N . .
( (B3) A m
Q) A.m _{\__.'!__'
( (1) N

g 1 umt of magnetic pole strength is

\) N ..
‘ (B) A.m

) A.m A.m
(€ o =5
el & FHEH YI G THF 0] 1 A &4 €
A0 B)  90°
c)  4°5° (D)  180°
The value of angle of dip at magnetic pole of the carth is
A 0° (B) 90°
C)  45° (D) 180°
fratd &t IR Wgia &1 - &ar €
(A) 05 SR (B) ¥
) 1% SR (D) I

The value of magnetic susceptibility of vacuum 1s

(A) equal to 0-5 (B) infinite

(C) cqual to one (D) Zero

mﬂm(u)%mﬁﬂ\%{f@ﬁﬁaﬁqmaﬁ% ?

H _B
B.

(VR

H (D) wu=(B+H)

€

7]C [(A)-9001-C@33) Page 19 of 28




. < .rmeability 7
Which of the following relations 18 correct for p¢

B
(A) ..-—’,} B) B

(C)  p=H.H D) p=(B+ H)

55.  Pasmly auakr N ufa gawla gy B, s 5, B @ @A TH B,A!
1
B & 36U Uz B, & & fsfafaa 4 = ui & ?

(A B, = Beoss 3) B, = Beosd

(€) B,, = Bsind (D) B, = B, sinb

s is angle of dip, By

Il B is carth’'s magnetic ficld in magnetic meridian,

-
. - .
horizontal component of B and B, is vertical component of B, then whu{
the following relations is correct ?

(A)  B,, = Bcosd (B) B, =Bcosbd

(C)  B,, = Bsind (D) B, = By sind
56. faem-grmig qin & gavur # fen et ¢
(A) E % §AR B) B % GO

© (B x E )% 9N D) (ExB)¥ GHi

The dircction of propagation of electromagnetic wave is

-

- -
(A) parallel to E (B) parallel to B

- - - -
(C) parallelto( B x E ) (D) parallel to (E x B)

117 ] C |(A)-9001-C(33) Page 20 of 28




87
(A) gk (B) GIEGH
€ TR (D) H®
Interference of light is the redistribution of which of the following physical
quantitics ?
| (A) Frequency (B) Intensity
i (C) Waveleng(h (D) Speed
cg. P 1 fRM-gommm gy &
A H (B) 3Hd
(€) 91 x10 3, (D) 1:6x10 ?"kg
The rest mass of photon is
| (A) zero (B) infinite
(C) 91 x10 3k (D) 16 x10 %" kg
9. AR 1 HGN vt ey &
. 1
(A B -E;=Zhy (B) E,-E;=hv
L) - ¥ —_— = 3
(© E, -E,=3hv D)  E,-E,=5hv
Bohr's frequency condition is
=1 -
A B ~Ey=Lhy B) B -Ep=hy
: _ _3
(C)  E, -E,=3hv (D) B -E,=3hv
60. R Hell FT Hid giar &
A)  AEg foauea (B) A s
(€) |l wull &1 faetiod (D) AR HerH
[ 117 ] C |(A)-9001-Cy33) Page 21 of [



The source of solar energy 18

(A) nuclear fission
(B) chemical reaction
articl
(C) annihilation of clementary particics
(D) nuclear fusion
: 7
61. h@gﬁmm@mwwhm%f@ﬂﬁaﬁ?% :
(A) TR (B)
(C) g () S
Which of the following is the best conductor of electricity ?
(A)  Silver (B)  Copperf
(C) Gold (D)  Zinc
62. NOR-§R&® &1 gferg =HeTah aral &
(A) A+B=Y B A.B=Y
(C) A.B=Y Do) A+B=Y
Boolcan cxpression for NOR gate is
A) A+B=Y B) A.B=Y
(C) A.B=Y \)E’?/ A +B=Y
63. fg-amurd WEA (1001), F AHE FEA FAl &
(A) (12);0 (B) (180
© (O W2l (25)o

Page 22 of 28
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rhe decimal number of binary number (1001), is
12
(Al 12ho (B) (18ho

€ Oho (D) (25N

( FFE TF VR 1 F g9 & wR1 R wiekiy & e § 36w ST el §
(A) 1. R 1 (B) I. R2 1

2

€ 17 . R D) 1%2.R%2.t

The heat produced in a conductor of resistance R due to flow of current [ for

gme 118
i-‘i 1. R I lB) I- Rz-t
(C) 12 .R.1 (D) 12 R2. 4

5 tesla (SFET) &7 JaHg &% qIER el €

-

_ Fay ;IR
A B W ——— % YO© " w T on
| (Fex)? S (Fex)?

_ e e
Cc) 5x107 pu—" (D) 5102 IR (HR)?
Magnetic field of S tesla is equal to
A 5 x eber (B) 5x10° YeRer
(metre)? (metre)
(C) 5x 102 _weber (D) 5 x 10? weber x {rm:fu't.:)"2

(metre)2
- > i I,) & @™
JeEEl YR T rms. IF (1, ) HR TEEd uR1 @1 fReE =31 (1o)

FE g €
(A) lyms. = 0-505 1o (B) ILms. = 0-606 Io
(C) 0-707 1, (D) 0-808 1,

Page 23 of 28
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ak valu r
value
. - 1! ) and p¢

The relation between r.m.s. value of alternaling current U g s

of Hhemﬂung current (}0| is
; = 0606/

(A) ’f-fl'l.s =0-5051, (B) 'r ms. g
< 1, =07071, (D)

o7 Waﬂ?ﬁ'maﬁmﬁmqﬁwﬁLﬁmmﬁ‘

Wit A e &
(A) % (B) w.L
© oI o =

¢ circuit 4

. . X . i.n a
Inductive reactance offered by an inductor of inductance L

angular frequency o is  https://www bsebstudy.com

@a 7 B o.L

(D)

€ |t

1
(C) =

68. Vi 1o ¥ faw Frerfetad § #17 wa WE 2

(A) T T = qume T Wi « ARG WA A
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Tue aver
age Power x Appaj'cnl avcerage powcr
(B) Power factor = APP&rcnl 8verage power
€ average power

(C)  Power factor « _ True average power
APPQT ent average power

(D) Power factor =
’.l [ True average power x Apparcnt average powcer |
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Value of green colour code on carbon resistance is
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Expression of force on a charge g moving with velocity V in a magnetic ficld
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[ 117 ] C |(A)-9001-Cg3) Page 25 of 28




m-u/sECTION-B

tions
Short Answer Type Que®
Y I 0¥ / Sho i | g & P02
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ﬁ'ﬂ(ﬁﬁ'*: 5. E(!Ch quﬁ’b‘ﬁo

Question Nos. 1 to 20 are Short Answer Type -

Answer any 10 question

carrtes 2 marks :

| Ot s 8 @ sravad Al F el

Write two essential conditions ol‘conslructivc interferencce.

2. I &) YIHT &9 Q 399 97 GHFEd & ? .
What do you mcan by power of accommodation of cye ?

3. OIS ¥ Y ¥ GHA & ? :
What do you mean by semiconductor ?

4. fecias 3sue & @rsd | 2
Explain sccondary rainbow.

5. amt-amEd o w o .
Write Biot-Savart's law.

6. foea R W wHAE | 2
Explain electrical resonance.

7. T O W & SRR TEA ST A FAT T 7 2

| What do you mean by apparcnt angle of dip at any place ?

8. & @ faw fod 2

Writc Brewslter's law.
2

9. ZiaETR § -/ i W |

Explain copper-loss in a transformer.
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19.

07 Ira 41 g |

Explain solar cell.

AEE B wftar @ s m wwed ?

Wh_iil do you mean by capacity of a conductor ?
mmm%%ﬁwﬁwénmﬁss.:.mﬁm‘ ?

Dcfine v -
chine volume density of charge. Write its S.1. unit.

WWWF&%}HW?&Q&W%: *

Define electric flyy on a surface.

THH v 2 ofam; 31 2
Define magnetic potential.

SRR L L O e ——— L2

“,-' 'l N . i . . ¥
rite necessary conditions for total internal reflection of light.

T AU W AT o wme o ‘ @

What do you mean by Paschen series ?

NAND-ER& &l §oyd | @

Explain NAND-gate.

HAG Higem B w9 @

Explain [requency modulation.

At ( (3) foeom & <t it =i ferd 4

Write two properties of beta | §§) rays.
" < 2

n-WhTR & gl i Gued | >

Explain n-type of semiconductor.

(117 ] C {(A)-9001-Ce3) Page 27 of 28




g 39 W9 / Long Answer Type QuasBRRs zF | grl® & ﬂl{r

& IV
mmzz#zswmm?fﬁﬁﬁsm 3x5=1§
5 3w frffra & : 3 questions. Each

. o ny - 1
Question Nus. 21 to 26 are Long Answer Type Questions. Answer any ot e
q:.;,(fst ion carries 5 maurks :
)
21, e A & fan A9 fem gan g7 wifud w0
L NP O S
T -1 (R Rx]
Establish the formula for thin lens given below :
1
Sl 1 |t ot
f =l-1) ["'n R_,]
S

22, YT Yeeyll &) s wmen & fom s omA #
Find out the expression for magnifying power of compound microscope.
23 3R faqﬁﬁf;gﬂ%aﬂrmn;ﬁfa@qtfaqﬂhméﬁmrxvﬂﬁm il | 5

IZstablish the expression for clectric potential at a point duc 1o a ] ehertne
dipole. https://www.bsebstudy.com

2% FRIE W & Ao & fefo e s ) 5
Find out an expression for root mean square value of an alternating current.

25, m,mmmmwﬁwmm. 5
Write propertics of diamagnetic, paramagnetic and ferromagnetic materials,

26. mv%aw:mmmmwmnmwmma ? eanfazg wy
% o fwe (v v e ) e

Establish disintegratj : - =\t
graton formula (N = Ny €' for radioactive substance.
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